





The sum of two numbers is 537‘18‘105 |f one of the numbers is qsq )
yther number, Write the number sentence. ‘

, There are two numbers, one of which is 2587925. The second numt
less than the given number. Find the second number. |

“of two numbers is 12793215. If th;.;

or number.

fmm a bank. How much money did he borrow

mination 459203 students sat for mathematfcs
712 students got 90 and above marks, 45389
How many students got less than 80




and estimated sum by rounding off to the

=y Actual Estimated

4 2 a8 1 7
s 6 0 7 5 2 0
|

e Find the actual and estimated difference by rounding off to the nea;

t , Estimated

ught.

- A school needs X 4987653 for its building. It has only ¥ 35924
Estimate the money by rounding off to the nearest lakh, it has still t

7. An exporter has an order to supply 380519 shirts. He has 213456 s .
How many more shirts has he to arrange? Estimate by rounding off to
lakh. :

8. A big car costs T 817812 and a small one costs ¥ 385906. Estimate}thé di
~in their costs. e

9. Write in a better way:
(@) I am 15 years 3 months 8 days old.
(b) 2830145 teachers are working in primary schools in a country.
(c) 4892 persons attended the function.

~ (d) | spent T 8110 on buying a suit.




